=
<
-

o(d @) (rad)
a(d cot(d))

1072

1072

[TMII B - HH i

0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

Q[T T
N '

|

=

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKIPUSU__RECO

—e— DQM_V0001_R000000001__Global_CMSSW_mkFitPU50__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50LowPtQuad__RECO

—— DQM_V0001_R000000001 _Global__CMSSW_mKkFitPU50LowPtQuad-noBkwd__RECO

1

SICEWACL
oloa) (cm)

107} 107
AR A 10%....i....i....i....i....i....

Ratio

iy

o | Sl wspetied e analintise l -----

LA 1
0 1 2 3 2372 -1 0 R B
TP n (PCA to beamline) TP n (PCA to beamline)

0P /P,

Ratio

----- i
i J?i’“ i h‘ﬂl}’H ﬁ""g
TP n (PCA to beamline)

& et
1 [ ———T
N " L
|
AR
o
=



	Contents
	Page 1


